Tema ypoka
«YMHOXeHMe AecAaTUYHbIX apoben
Ha HaTyparibHOe YNCIIo»
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Beiyucnure:

1) 3,55 -2 =
2)1000 : 8 + 3,5 =
3)135,3 -2,1 =
4)11,3 + 56 : 8 =

5) 135,678 + 34,322 =
6)54:6+7+3,57=



YNpOCTUTE:

1) 3c+c+c+c+c+c+7 =

2) 3,5—(2,5a +1) =

3) (6,78b + 4m) — 1,2m =
4)4,8a+ 3a+ x +x—6=



[loTepanack 4 .....
(mocTaBbTE Ha MECTO 3arAaTyio)
1) 32+18 =5
2)57—-4=1,7
3)3+108=4,08
4) 63 — 27 = 60,3




Haudume nepumemp rpyoa co cmopoHou 1m 80 cm
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13,75 * 10=137,5

1,672 - 100=167,2

0,3562 - 1 000=356,2
999,824 - 10 000 = 9 998 240







